EREXRA
2RO s — A . 2RO 2w A |
ke | 9 | % k| B3 | %
1| 975,427 1,904,615 895, 623 1,008, 992|3 K| 131,287 253,985 121,386 132,599
m &= [X| 125,548 215151 97,516 117, 635|8k BO12,271 20, 690 9,365 11,325
it S| 14, 784 24,308 11,493 12,815
Ko 4 EH| 5,480 7,373 3,175 4,198t % 20,555 37,202 18,038 19, 164
# J&| 3,543 5,296 2,398 2, 898/ %2 PE| 11,973 23,129 11,226 11,903
H | 2,461 4,484 2,055 2, 429| % B 16,659 34,104 16,213 17,891
B 5, 584 7,965 3,534 4, 431
o Al 4,804 6,407 3,007 3, 400| ¢ BT| 14,296 26,799 12,606 14,193
ROd AR HT) 14,719 30,378 14,609 15,769
W Al Rk| 5,518 7,166 3,248 3,918| Bl 6,275 13,618 6, 550 7,068
(623 8,778 13,027 5,895 7, 132|4L W 15,367 35,168 17,235 17,933
il B 17,907 34,737 15,885  18,852|f%  BH | 4,388 8, 589 4,051 4,538
% PE| 11,181 22,532 10,278 12,254
[ig] 11,788 16,357 7,631 8,726)@ & K| 111,624 205,667 98,287 107,380
Mo | 7,773 15,110 6,865 8, 245| 1 F| 21,415 38,825 18,537 20,288
25! (| 15, 442 26,852 11,624  15,228/3k 1 A| 17,985 29,071 13,697 15,374
% Bl 14,120 24,787 11,399 13,3883 AL Mg 12,761 21, 182 9,777 11,405
w0 | 11,169 23,058 10,522  12,536(4 Al 13,761 23,366 10,845 12,521
It B A 17,152 35,754 17,498 18,256
it X| 139,227 276,541 131,670 144,87
£ ® B A 8, 825 19, 551 9,429 10,122
gk 7§ 3,875 5,711 2,738 2,973/|@ A K| 12,533 22,920 11,039 11,881
e JE| 13,669 18,548 9,472 9,076/ ©» H 7,192 14, 998 7, 465 7,533
=[ 16, 643 28,358 13,511 14,847
bEli JII| 12, 668 27,904 13,310 14, 594 | & Al X| 60,766 129,593 60,013 69,580
o= ] 19,778 40,210 18,851 21,359
= B o ] 13,876 26,918 12,475 14,443
B o L | 8,446 17,946 8,609 9,337/ Bl  Fj| 16,758 36,832 17,236 19,596
ifi H| 15,625 36,750 17,415 19,335 Bl  7H| 9,817 23,592 11,183 12,409
J#k 4| 12,681 19,342 8,78  10,556|% A U A 8, 607 17, 124 7, 565 9, 559
KEHEMNE 7,853 17,089 8,088 9,001 |7 #| 4,601 8, 658 3, 806 4, 852
dk-HVo B 13,297 32,828 15,751 17,077
=B K 7,107 16, 469 7,748 8, 721
b3 ¥ 14, 692 31,855 15,139 16,716
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£ I X| 115,052 212,435 99,178 113,257 1 X| 106, 395 211, 050 98,419 112,631
£ A 14, 651 23, 850 11,012 12, 838|/\ E? 9, 107 18, 379 8, 757 9, 622
ES 5] 11,981 20, 484 9, 808 10, 676 ﬁgﬂﬂgilﬁ*ﬂgi? 18, 859 30, 548 13, 450 17, 098
H 32 18, 647 35,770 16, 597 19, 173 |74 iiNg 21, 155 43, 331 20, 184 23, 147
A == 15, 215 24, 340 11, 153 13, 187|3& F ik 8,630 17, 864 8, 540 9, 324
=8| D =N 8, 089 13,116 6, 093 7,023|78 i3 16, 498 36,611 17,174 19, 437
pic) [¥] 13, 165 28,671 13,532 15, 1391l (D) E= 9, 960 19,716 9,198 10, 518
& 1+ 7,476 16, 199 7, 565 8, 634 |3 FE 14, 385 28, 735 13, 478 15, 257

wOR % 9,871 21,236 10,029 11,207\ ®F o g 7,801 15, 866 7,638 8, 228
M F R 15,957 28,769 13,389 15,380
F W K| 64,635 140,268 66,588 73,680
% HB 0 K| 49,744 115,201 54,890 60,311

== il 4,077 7,693 3, 446 4, 247
it ¥F| 10,393 22,755 10,790  11,965|F Fg & db| 12,789 27,115 12,957 14,158
H OB R 7,941 19, 028 9, 095 9, 933/l M| 13,046 28,366 13,475 14,891
I fie] 9,617 23,045 10,916  12,129|% &  # 7,950 18, 492 8, 994 9,498
1 H 8, 830 17,836 8,608 9,228/ 8 A OR| 12,116 25,421 12,064 13,357
-2 LA E| 12,963 32,537 15,481 17,056

fo B & W 8,076 17, 634 8, 399 9, 235
3] X| 71,149 144,724 67,676  77,048| %2 B 6, 581 15, 547 7,253 8, 294
BHOF N 13,472 26,339 12,420 13,919
FH i 5,221 10,924 5,039 5, 885
1 F.3 2, 367 5,390 2, 556 2,834
i B 8,991 19,552 9,123 10, 429
i3 Alo17,271 36,718 17,181 19,537
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2,603 5,302 2,553 2,749

VB NI 15,206 28,268 13,033 15,235
=5 o 2 H X 5,071 10, 825 5, 101 5,724
A= | [ 4 947 1, 406 670 736




